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Question1:-Arrange the following events chronologically:
(1)     Sepoy Mutiny
(2)     Battle of Plassey
(3)     Queen's Proclamation
(4)     Formation of INC
Select the correct answer from the codes given below:

��வ�� �க��கைள காலவ�ைச�ப� வ�ைச�ப����க�

(1)     ��பா� கலக�

(2)     �ளா� ேபா�

(3)     ரா��� �ரகடன�

(4)     INC உ�வா�க�

�ேழ ெகா��க�ப���ள ����க�� இ��� ச�யான ப�ைல� ேத��ெத��க��

        A:-(4), (2), (1), (3)

        B:-(2), (1), (3), (4)

        C:-(3), (1), (2), (4)

        D:-(4), (2), (3), (1)

        Correct Answer:- Option-B

Question2:-Match List I with List II and select the correct answer with the help of a
code given below:
          List I (Author)                                               List II (Work)
(a)      E.M. Sankaran Nambuthiripad               (i)     A survey of Indian History
(b)      Elamkulam Kunjan Pillai                       (ii)     Kerala Charithrathile Iruladanja
Edukal
(c)      K.M. Panikkar                                      (iii)    Keralam Malayalikalude
Mathrubhumi
(d)      K.N. Ganesh                                        (iv)    Keralathinte Innalakal

ப��ய� I உட� ப��ய� II ஐ ெபா��� ம��� ��க�ட ����ைட� பய�ப���

ச�யான ப�ைல� ேத��ெத��க��.

          ப��ய� I (ஆ��ய�)                                 ப��ய� II (ப�)



(a)      E.M. ச�கர� ந����பா�               (i)     எ ச�ேவ ஆஃ� இ��ய� ��ட�

(b)      எல��ல� ��ச� ��ைள              (ii)     ேகரள ச���ர��ேல

                                                                             இ�ளட�சக� ஏ�

(c)      K.M. ப��க�                                   (iii)    ேகரளா மைலயா�க�ேட

                                                                             மா����

(d)      K.N. கேண�                                     (iv)    ேகரள���ேட இ�னலக�

        A:-(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

        B:-(a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

        C:-(a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)

        D:-(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

        Correct Answer:- Option-C

Question3:-Who was the founder of Kuka Movement?

�கா இய�க�ைத உ�வா��யவ� யா�?

        A:-Renjith Singh

ர��� ��

        B:-Ram Singh

ரா� ��

        C:-Raja Ram Mohan Roy

ராஜா ரா� ேமாக� ரா�

        D:-Nauninal Singh

ெநள�ன� ��

        Correct Answer:- Option-B

Question4:-Which of the following is/are related to Swathi Thirunal Rama Varma?
(1)     A golden age in the history of Travancore
(2)     First Raja of Travancore to receive the title Maharaja from the British Crown
(3)     The first census of the state was conducted
(4)     Formulated a Legislative Council
Select the correct answer using the code given below:

��வ�வனவ��� எ�/எைவ �வா� ��நா� ராம வ�மா�ட� ெதாட��ைடய�?

(1)     ���தா���� வரலா��� ஒ� ெபா�கால�

(2)     ����� அர�ட���� 'மகாராஜா' எ�ற ப�ட�ைத� ெப�ற ���தா����         

�த� ராஜா

(3)     மா�ல��� �த� ம�க� ெதாைக கண�ெக��� நட�த�ப�ட�

(4)     ஒ� ச�ட ேமலைவைய உ�வா��ய�

�ேழ ெகா��க�ப���ள ����ைட� பய�ப��� ச�யான ப�ைல� ேத��ெத��க��.



        A:-(1) and (2)

(1) ம��� (2)

        B:-(2) and (3)

(2) ம��� (3)

        C:-(1) and (3)

(1) ம��� (3)

        D:-(2) and (4)

(2) ம��� (4)

        Correct Answer:- Option-C

Question5:-Which of the following is/are not related to Great Revolution in England?
(1)     The storming of the Bastille
(2)     Bloodless Revolution
(3)     Toleration Act
(4)     Continental Congress
Select the correct answer using the code given below:

��வ�வனவ��� எைவ இ��லா��� மாெப�� �ர���ட� ெதாட��ைடயைவ

இ�ைல?

(1)     பா����� �ய�

(2)     இர�த��லாத �ர��

(3)     ச����த�ைம ச�ட�

(4)     கா��ென�ட� கா��ர�

�ேழ ெகா��க�ப���ள ����ைட� பய�ப��� ச�யான ப�ைல� ேத��ெத��க��.

        A:-(1) and (2) only

(1) ம��� (2) ம���

        B:-(2) and (3) only

(2) ம��� (3) ம���

        C:-(3) and (4) only

(3) ம��� (4) ம���

        D:-(1) and (4) only

(1) ம��� (4) ம���

        Correct Answer:- Option-D

Question6:-Present President of UNICEF

��ெச��� த�ேபாைதய தைலவ�

        A:-Julian Huxley

ஜூ�ய� ஹ���



        B:-Maurice Pate

மா�� ேப�

        C:-Catriona Laing

ேக��ேயானா ைல�

        D:-Catherine Russell's

ேக�த�� ரச��

        Correct Answer:- Option-D

Question7:-The name given to the boundary between mantle and core of the earth

ேம��� ம��� ���� ைமய�ப���� இைடேய உ�ள எ�ைல�� ெகா��க�ப�ட

ெபய�

        A:-Mohorovicic Discontinuity

ெமாேஹாேரா��� ��க�����

        B:-Bullen Discontinuity

��ல� ��க�����

        C:-Lehmann Discontinuity

ெல�ம� ��க�����

        D:-Gutenberg Discontinuity

��ட�ெப�� ��க�����

        Correct Answer:- Option-D

Question8:-Which type of map portrays a specific spatial distribution or category of
data?

எ�த வைகயான வைரபட� �����ட ��ேயாக� அ�ல� தர�� வைகைய�

��த���ற�?

        A:-Physical Map

இய��ய� வைரபட�

        B:-Thematic Map

க��ெபா�� வைரபட�

        C:-Cadastral map

காடா��ர� வைரபட�

        D:-Topographic Map

�ல�பர�� வைரபட�

        Correct Answer:- Option-B

Question9:-North East Trade winds blows between which pressure belts?

வட�ழ�� வ��தக� கா�� எ�த அ��த�ப�ைடக��� இைடேய ���ற�?



        A:-Sub tropical high pressure belt in the north and equatorial low pressure belt

வட��� �ைண ெவ�பம�டல உய� அ��த ெப�� ம��� �ம��யேரைக �ைற�த

அ��த ெப��

        B:-Polar high pressure belt and subpolar low pressure belt

��வ உய� அ��த ெப�� ம��� �ைண ��வ �ைற�த அ��த ெப��

        C:-Sub tropical high pressure belt in the south and equatorial low pressure belt

ெத��� உ�ள �ைண ெவ�பம�டல உய� அ��த ெப�� ம��� �ம��யேரைக �ைற�த

அ��த ெப��

        D:-Sub tropical high pressure belt and sub polar low pressure belt

�ைண ெவ�பம�டல உய� அ��த ெப�� ம��� �ைண ��வ �ைற�த அ��த ெப��

        Correct Answer:- Option-A

Question10:-Which of the following statement is/are correct about the Eastern
Coastal Plain of India?
(i)     It lies between Eastern Ghats and West coast of India
(ii)    It extends from West-Bengal-Odisha border to Kanyakumari
(iii)   The plain is known as Konkan Coast in the north and Malabar Coast in the
South
(iv)   The plain is drained by Mahanadi, Godavari, Krishna and Cauvery

இ��யா�� �ழ�� கட�கைர சமெவ� ப�� ��வ�� ���க�� எ�/எைவ ச�யான�?

(i)     இ� �ழ��� ெதாட��� மைலக���� இ��யா�� ேம��� கட�கைர���

        இைட�� உ�ள�

(ii)    இ� ேம��-வ�காள-ஒ�சா எ�ைல����� க��யா�ம� வைர ����ள�

(iii)   சமெவ� வட��� ெகா�க� கட�கைர எ��� ெத��� மலபா� கட�கைர

        எ��� அைழ�க�ப��ற�

(iv)   சமெவ� மகாந�, ேகாதாவ�, ���ணா ம��� கா��யா�

        வ�க�ட�ப��ற�

        A:-(i) only

(i) ம���

        B:-(iii) and (iv)

(iii) ம��� (iv)

        C:-(ii) and (iv)

(ii) ம��� (iv)

        D:-(iii) only

(iii) ம���



        Correct Answer:- Option-C

Question11:-The location of Agricultural research centres in Kerala is given. Which
of the following is correctly matched?

ேகரளா�� ேவளா� ஆரா��� ைமய�க�� இட� ெகா��க�ப���ள�.

��வ�வனவ��� எ� ச�யாக� ெபா����ற�?

        A:-Central Tuber Crops Research Institute Kerala (CTCRI) - Thiruvananthapuram

ெச��ர� ��ப� �ரா�� �ச�� இ����� ேகரளா (CTCRI) - ��வன�த�ர�

        B:-Central Plantation Crops Research Institute (CPCRI) - Ernakulam

ெச��ர� �ேள�ேடஷ� �ரா�� �ச�� இ����� (CPCRI) - எ�ணா�ள�

        C:-Indian Institute of Spices Research - Kasargode

இ��ய� இ����� ஆ� �ைபச� �ச�� - காச�ேகா�

        D:-Rice Research Centre - Kozhikode

ெர�� �ச�� ெச�ட� - ேகா��ேகா�

        Correct Answer:- Option-A

Question12:-Which of the following is a latest version of GIS Software?

��வ�வனவ��� எ� GIS ெம�ெபா��� ச�ப��ய ப���?

        A:-Intergraph

இ�ட��ராஃ�

        B:-Arc GIS 10.8

ஆ�� GIS 10.8

        C:-Arc View

ஆ�� ��

        D:-Map Info

வைரபட� தகவ�

        Correct Answer:- Option-B

Question13:-New Economic Policy Introduced in India 1991 covers

இ��யா�� 1991 இ� அ��க�ப��த�ப�ட ��ய ெபா�ளாதார� ெகா�ைக

        A:-Stabilization reform Measures

உ���ப��த� �����த நடவ��ைகக�

        B:-Structural Reform Measures

க�டைம�� �����த நடவ��ைகக�

        C:-Both (1) and (2)

(1) ம��� (2)

        D:-Environmental policy measures



�����ழ� ெகா�ைக நடவ��ைகக�

        Correct Answer:- Option-C

Question14:-Central Government's non-debt receipts comprise of
(i)     Tax revenue
(ii)    Non tax revenue
(iii)   Recovery of loans
(iv)   Disinvestment receipts

ம��ய அர�� கட� அ�லாத ர��க� இ�� அட���

(i)     வ� வ�வா�

(ii)    வ� அ�லாத வ�வா�

(iii)   கட�கைள ���ப� ெப�த�

(iv)   �த�� �ல�� ர��க�

        A:-(i) and (ii)

(i) ம��� (ii)

        B:-(i) and (iii)

(i) ம��� (iii)

        C:-(i), (ii) and (iii)

(i), (ii) ம��� (iii)

        D:-All of the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-D

Question15:-Government fixes Minimum Support Price of 22 mandated agricultural
crops which consist of

22 க�டாய �வசாய ப��க��� �ைற�தப�ச ஆதர� �ைலைய அரசா�க�

��ண����ள�

        A:-14 Kharif Crops, 6 Rabi Crops and 2 Commercial Crops

14 கா�ஃ� ப��க�, 6 ரா� ப��க� ம��� 2 வ�க� ப��க�

        B:-10 Kharif Crops and 12 Rabi Crops

10 கா�ஃ� ப��க� ம��� 12 ரா� ப��க�

        C:-12 Kharif Crops, 6 Rabi Crops and 4 Commercial Crops

12 கா�ஃ� ப��க�, 6 ரா� ப��க� ம��� 4 வ�க� ப��க�

        D:-9 Kharif Crops, 10 Rabi Crops and 3 Commercial Crops

9 கா�ஃ� ப��க�, 10 ரா� ப��க� ம��� 3 வ�க� ப��க�

        Correct Answer:- Option-A

Question16:-P C Mahalanobis model on Indian Five Year Plan
(i)    Emphasis on development of capital goods industries



(ii)   Emphasis on development of consumer goods industries

இ��ய ஐ�தா��� ��ட��� P C Mahalanobis மா��

(i)    �லதன� ெபா��க� ெதா��க�� வள����� ���ய��வ�

(ii)   �க�ேவா� ெபா��க� ெதா��க�� வள����� ���ய��வ�

        A:-Both (i) and (ii)

(i) ம��� (ii)

        B:-(i) only

(i) ம���

        C:-(ii) only

(ii) ம���

        D:-None

இ�ைல

        Correct Answer:- Option-B

Question17:-Which of the following is/are correct about Pradhan Mantri Fazal Bhima
Yojana (PMFBY) 2016?
(i)     To provide insurance coverage and financial support to the farmers in the
event of crop
         failure due to natural calamities, pests and diseases
(ii)    To stabilize the income of farmers to ensure their continuance of farming
(iii)   To encourage farmers to adopt innovative and modern agricultural practices

�ரதா� ம��� ஃபச� �மா ேயாஜனா (PMFBY) 2016 இ� ��வ�வனவ��� எ�

ச�யான�?

(i)     இய�ைக ��ற�க�, ���க� ம��� ேநா�க� ப��� ஏ�ப�டா�

        �வசா�க��� கா��� ம��� �� உத� வழ��த�

(ii)    �வசா�க�� வ�வாைய �ைல�ப��� �வசாய� ெச�வைத உ�� ெச�த�

(iii)   ��ைமயான ம��� ந�ன �வசாய �ைறகைள ��ப�ற �வசா�கைள

        ஊ����த�

        A:-(i) only

(i) ம���

        B:-(i) and (ii)

(i) ம��� (ii)

        C:-(i), (ii) and (iii)

(i), (ii) ம��� (iii)

        D:-(i) and (iii)

(i) ம��� (iii)



        Correct Answer:- Option-C

Question18:-RBI's targeted liquidity support to the system in 2021-22 included
(i)     Special refinancing facilities of Rs. 66,000 crores to all India Financial
institutions
(ii)    Term liquidity facility of Rs. 50,000 Crore to ramp up COVID related healthcare
        infrastructure and services
(iii)   Special Long Term Repo Operations (SLTRO) for small finance banks of Rs.
10,000 Crore
(iv)   On-Tap liquidity window of Rs. 15,000 crore for contact intensive sectors
(v)    Extension of On Tap Targeted Long Term Repo Operations till 31st December
2021

2021-22இ� அைம���� �ச�� வ���� இல�� பண��ழ�க ஆதர� இவ����

ேச��க�ப���ள�

(i)     �ற�� ம���ய��� வச�க� �. Rs. 66,000 ேகா�க� அ�ல இ��ய ��       

��வன�க���

(ii)    கால பண��ழ�க வச� �. 50,000 ேகா� ேகா�� ெதாட�பான �காதார        

ேசைவைய அ�க��க உ�க�டைம�� ம��� ேசைவக���

       

(iii)   �� �� வ��க��கான �ற�� ��ட கால ெர�ேபா ெசய�பா�க� (SLTRO)        �.

10,000 ேகா�

(iv)   ஆ�-டா� பண��ழ�க சாளர� �. 15,000 ேகா� ெதாட�� ��ர �ைறக���

(v)   2021 �ச�ப� 31 வைர டா� டா�ெக� ��ட கால ெர�ேபா ெசய�பா�கைள      

�����

        A:-(i), (ii) and (iv)

(i), (ii) ம��� (iv)

        B:-(iii) and (iv)

(iii) ம��� (iv)

        C:-(i) and (v)

(i) ம��� (v)

        D:-All of the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-D

Question19:-Which one of the following statements is/are correct related with
Finance Commission in India?
(1)     First two chairpersons of Finance Commission were former Union Cabinet
Ministers
(2)     Kerala State Finance Commission submits its recommendations to Chief
Minister
(3)     Finance Commission's recommendations are mandatory in nature



(4)     Finance Commission shall have powers of Civil Court while functioning

�� ஆைணய��ட� ெதாட��ைடய ��வ�� அ��ைகக�� எ�/எைவ ச�யான�?

(1)     �� ஆேயா��� �த� இ� தைலவ�க� ��னா� ம��ய அைம�சரைவ         

அைம�ச�க�

(2)     ேகரள மா�ல �� ஆைணய� தன� ப���ைரகைள �தலைம�ச�ட�        

சம����த�

(3)     �� ஆேயா��� ப���ைரக� இய�ைக�� க�டாய�

(4)     �� ஆேயா� ெசய�ப�� ேபா� ��� ��ம�ற��� அ�கார�கைள�        

ெகா������

        A:-(1) and (2)

(1) ம��� (2)

        B:-(2), (3) and (4)

(2), (3) ம��� (4)

        C:-(1) and (4)

(1) ம��� (4)

        D:-(1) and (3)

(1) ம��� (3)

        Correct Answer:- Option-C

Question20:-At the Union level, Subordinate Legislations are framed and notified in
the Official Publications by

��ய� ம�ட���, �ைண� ச�ட�க� உ�வா�க�ப�� அ�கார���வ ெவ���க��

இ� அ���க�ப���றன

        A:-The Law Commission of India

இ��ய ச�ட ஆைணய�

        B:-The Ministry/Department Concerned

அைம�சக�/�ைற ச�ப�த�ப�ட�

        C:-The Supreme Court of India

இ��ய உ�ச ��ம�ற�

        D:-The Parliament of India

இ��ய நாடா�ம�ற�

        Correct Answer:- Option-B

Question21:-Match List - I (Major Constitution Amendment) with List - II (Minister
who introduced the Bill) and select the correct answer using the code given below:
         Constitution Amendment                    Minister who introduced the Bill



(1)     Amendment 44                        (I)     Sharad Pawar
(2)     Amendment 73                        (II)    Shanti Bhushan
(3)     Amendment 97                        (III)   Ravi Shankar Prasad
(4)     Amendment 104                      (IV)    G. Venkataswamy

ப��ய� - I ஐ (���ய அர�யலைம��� ���த�) ப��ய� - II (மேசாதாைவ

அ��க�ப���ய அைம�ச�) உட� ெபா���, �ேழ ெகா��க�ப���ள ����ைட�

பய�ப��� ச�யான ப�ைல� ேத��ெத��க�� :

         அர�யலைம�� ���த�           மேசாதாைவ தா�க� ெச�த அைம�ச�

(1)     ���த� 44                        (I)     சர� பவா�

(2)     ���த� 73                        (II)    சா�� �ஷ�

(3)     ���த� 97                        (III)   ர� ச�க� �ரசா�

(4)     ���த� 104                      (IV)    G. ெவ�க�சா�

        A:-(1)-(IV), (2)-(III), (3)-(I), (4)-(II)

        B:-(1)-(III), (2)-(II), (3)-(IV), (4)-(I)

        C:-(1)-(II), (2)-(IV), (3)-(I), (4)-(III)

        D:-(1)-(I), (2)-(IV), (3)-(II), (4)-(III)

        Correct Answer:- Option-C

Question22:-Consider the following statements:
(1)     Kendriya Hindi Samiti constituted in 1969 with Prime Minister as Chairperson
(2)     Department of Official Language was formed in 1975
(3)     Parliamentary Committee on Official language was formed in 1976
(4)     Article 348 discusses about the language to be used in Supreme Court and
High Courts
Which of the statement given above is Not a correct one?

��வ�� அ��ைககைள� கவ���க�:

(1)     ேக���ய ��� ச�� 1969 இ� �ரதம ம���ைய தைலவராக        

உ�வா�க�ப�ட�

(2)     அ�வ� ெமா���ைற 1975 இ� உ�வா�க�ப�ட�

(3)     உ��ேயாக��வ ெமா��கான பாரா�ம�ற� �� 1976 இ� உ�வா�க�ப�ட�

(4)     உ�ச ��ம�ற� ம��� உய� ��ம�ற�க�� பய�ப��த�ப�� ெமா�         ப��

348வ� ��� �வா���ற�

ேமேல ெகா��க�ப���ள ���க�� எ� ச�யான� அ�ல?

        A:-(1) only

(1) ம���

        B:-(2) only

(2) ம���



        C:-(3) only

(3) ம���

        D:-(4) and (1)

(4) ம��� (1)

        Correct Answer:- Option-A

Question23:-As far as Advocate - General of a state is concerned
(1)     Qualified to be appointed as judge of High Court and, the person is barred
from
          appearing for any private individuals and firms.
(2)     Appointed by State Governor in accordance with Article-165.
(3)     Give advice to the State government upon such legal matters and any other
assigned to
          him/her by governor.
(4)     S/he is entitled to participate in the proceedings of both Houses of State
Legislature and
         committees with voting power.
Which of the statement given above is/are correct?

ஒ� மா�ல��� அ�வேக� - ெஜனரைல� ெபா��த வைர

(1)     உய� ��ம�ற ��ப�யாக �ய��க�ப�வத��� த���ைடவ� ேம��, அ�த

         நப� எ�தெவா� த�யா� த�நப�க� ம��� ��வன�க��� ஆஜராக     

         தைட ���க�ப���ள�.

(2)    உ���ைர-165 இ� ப� மா�ல ஆ�நரா� �ய��க�ப�ட�

(3)    அ�தைகய ச�ட���வ �ஷய�க� ம��� ஆ�நரா� அவ���/அவ���       

ஒ��க�ப�ட ேவ� எ�த �ஷய���� மா�ல அர��� ஆேலாசைன வழ�கலா�

(4)    மா�ல ச�டம�ற��� இ� அைவக��� வா�க���� அ�கார� ெகா�ட       

���க�� நடவ��ைகக��� ப�ேக�க அவ�/அவ��� உ�ைம���

ேமேல ெகா��க�ப���ள அ��ைகக�� எ� ச�யான�?

        A:-(1) and (2)

(1) ம��� (2)

        B:-(2) and (3)

(2) ம��� (3)

        C:-(3) and (4)

(3) ம��� (4)

        D:-None of the above

ேமேல எ��� இ�ைல

        Correct Answer:- Option-B



Question24:-Consider the following statements regarding National Green Tribunal
(NGT) of India:
(1)     National Green Tribunal has other sitting of places in Kolkatta, Chennai, Pune,
Bhopal
         and Chandigarh.
(2)    They are appointed for a period of five-years and eligible for re-appointment.
(3)    The NGT comprises, Chairperson, Judicial Members and Expert Members.
(4)    Justice Swatanter Kumar was first chairperson of NGT.
Which of the statement given above is/are correct?

இ��யா�� ேத�ய ப�ைம ���பாய� (NGT) ெதாட�பான ��வ�� அ��ைககைள�

கவ���க�

(1)    ேத�ய ப�ைம ���பாய� ெகா�க�தா, ெச�ைன, �ேன, ேபாபா� ம���        ச��க�

ஆ�ய இட�க�� ம�ற இட�கைள� ெகா���ள�.

(2)    அவ�க� ஐ�தா�� கால���� �ய��க�ப��றா�க� ம��� ம�       

�யமன���� த���ைடயவ�க�.

(3)    NGT, தைலவ�, ����ைற ஆ�யவ�ைற உ�ளட��ய� உ���ன�க� ம���       

��ண� உ���ன�க�.

(4)   ��ப� �வத�த� �மா� எ����� �த� தைலவராக இ��தா�.

ேமேல ெகா��க�ப���ள ���க�� எ�/எைவ ச�யான�?

        A:-(1) and (2)

(1) ம��� (2)

        B:-(2), (3) and (4)

(2), (3) ம��� (4)

        C:-(3) and (4)

(3) ம��� (4)

        D:-(3) only

(3) ம���

        Correct Answer:- Option-D

Question25:-The President of India can't exercise veto power with respect to
(a)     Money bill
(b)     Financial bill
(c)     Constitutional Amendment Bill
(d)     Private Member Bill

இ��ய ��யர�� தைலவ� ��ேடா அ�கார�ைத இவ����� பய�ப��த ��யா�

(a)     பண மேசாதா

(b)     �� மேசாதா

(c)     அர�யலைம�� ���த மேசாதா



(d)     த��ப�ட உ���ன� மேசாதா

        A:-(a), (b) and (c)

(a), (b) ம��� (c)

        B:-(a) and (c)

(a) ம��� (c)

        C:-(a), (b) and (d)

(a), (b) ம��� (d)

        D:-(a), (b), (c) and (d)

(a), (b), (c) ம��� (d)

        Correct Answer:- Option-B

Question26:-According to the Constitution of India, what is the criteria for
determining the total number of Ministers including the Prime Minister in the
Council of minister?

இ��ய அர�யலைம��� ப�, �ரதம� உ�பட ெமா�த அைம�ச�க�� எ���ைகைய

��ணய� ெச�வத�கான அள�ேகா� எ�ன?

        A:-Not exceeding fifteen percent of the total number of members both Houses
of the Parliament

நாடா�ம�ற��� இ� அைவக�� ெமா�த எ���ைக�� ப�ைன�� சத�த����

�காம�

        B:-Not exceeding twelve percent of the total members of the Lok Sabha

ம�களைவ�� ெமா�த எ���ைக�� ப��ெர�� சத�த���� �காம� இ��க

ேவ���

        C:-Not exceeding fifteen percent of the total number of members of the House
of the People

ம�க� ம�ற��� ெமா�த உ���ன�க�� எ���ைக�� ப�ைன�� சத�த����

�காம� இ��க ேவ���

        D:-Not exceeding twelve percent of both the Houses of the Indian Parliament

இ��ய நாடா�ம�ற��� இ� அைவக��� ப��ெர�� சத�த���� �காம�

        Correct Answer:- Option-C

Question27:-The theme of SUJALAM 2.0 campaign is

SUJALAM 2.0 �ர�சார��� க��ெபா��

        A:-Grey water : making the invisible visible

சா�ப� �� : க����� ெத�யாதைத� காண� ெச�த�

        B:-Ground water : managing the invisible visible

�ல�த� �� : க����� ெத�யாதைத� காண ��வ��த�



        C:-Ground water : making the invisible visible

�ல�த� �� : க����� ெத�யாதைத� காண� ெச�த�

        D:-Grey water : managing the invisible visible

சா�ப� �� : க����� ெத�யாதைத� காண ��வ��த�

        Correct Answer:- Option-C

Question28:-Which among the following statement is/are true?
(i)     All executive actions of the Governor of a State shall be expressed to be taken
in the
        name of Governor.
(ii)    There shall be Council of Ministers with the Chief Minister at the head to aid
and advise
        the Governor in the exercise of his functions except in so far as he is by or
under the
        Constitution required to exercise his functions or any of them in his discretion.
(iii)   The Governor appoints Chief Minister and other Ministers.
(iv)   A person to be eligible for appointment as Governor should be citizen of India
and has
        complete age of 30 years.

��வ�� ���க�� எ�/எைவ உ�ைமயான�?

(i)     ஒ� மா�ல ஆ�ந�� அைன�� ��வாக நடவ��ைகக�� ஆ�ந�� ெபய��       

எ��க�ப�� எ�� ெவ��ப��த�ப��.

(ii)    ஆ�ந�� ெசய�பா�கைள� ெசய�ப���வத��� உத� ெச�வத���        

ஆேலாசைன வழ��வத��� தைலைம அைம�சைர� ெகா�ட அைம�ச�க�        ��

அவர� �����ைம�� இ��க ேவ���.

(iii)   ஆ�ந� �தலைம�சைர�� ம�ற அைம�ச�கைள�� �ய���றா�.

(iv)   ஆ�நராக �ய��க� த���ைடய ஒ�வ� இ��ய� ��மகனாக இ��க       

ேவ��� ம��� அவர� வய� 30 ஆ��க� �ைறவைட����க ேவ���.

        A:-(i), (ii), (iv)

        B:-(i), (ii), (iii)

        C:-(ii), (iii), (iv)

        D:-All of these are correct

இைவ அைன��� ச�யானைவ

        Correct Answer:- Option-B

Question29:-By the NITI Aayog's Multidimensional Poverty Index, the headcount
ratio for Kerala was

NITI ஆேயா��� பல ப�மாண வ�ைம� ������ப�, ேகரளா��கான தைலைம

எ���ைக ��த�

        A:-0.71%



        B:-0.51%

        C:-0.21%

        D:-0.15%

        Correct Answer:- Option-A

Question30:-Which among the following programs and their purpose is/are
matching?
(i)    Sulekha   -   Plan Monitoring for decentralized planning at local level
(ii)   Sanchaya -   The Revenue and Licence System
(iii)  Sugama   -   Cost Estimation tool for public works
(iv)  Sachithra   -   Map suite (GIS) and asset register for local governments

��வ�� �ர�க� ம��� அவ��� ேநா�க� எ�/எைவ ெபா����ற�?

(i)    �ேலகா   -   உ��� ம�ட��� பரவலா�க�ப�ட ��ட�ட��கான ��ட        

                           க�கா���

(ii)   ச�சயா  -   வ�வா� ம��� உ�ம அைம��

(iii)  �கமா     -   ெபா�� ப�க��கான ெசலைவ ம����� க��

(iv)  ச��ரா   -   வைரபட� ெதா��� (GIS) ம��� உ��� அரசா�க�க��கான    

                          ெசா��� ப��

        A:-(i), (ii), (iv)

        B:-(i)

        C:-(i), (iii), (ii)

        D:-All are matching

அைன��� ெபா����ற�

        Correct Answer:- Option-D

Question31:-Golden Boot Prize Winner of World Cup Football 2022

உலக� ேகா�ைப கா�ப�� 2022 இ� ேகா�ட� �� ப�� ெவ�றவ�

        A:-Kylian Mbappe

ைக�ய� எ�பா�ேப

        B:-Lionel Messi

�ேயான� ெம��

        C:-Enzo Fernadez

எ�ேஸா ெப�னாட�

        D:-Emiliano Martinez

எ��யாேனா மா��ென�

        Correct Answer:- Option-A



Question32:-The objective of the Abhayakiranam program is

அபய�ரண� �க����� ேநா�க�

        A:-Maternity benifit scheme with an aim to compensating partial wage loss,
improve health seeking behaviour, improve nutritional status and to promote
exclusive breast feeding.

மக�ேப� ந�ைம� ��ட�, ப�� ஊ�ய இழ�ைப ஈ�ெச��� ேநா�க��ட�,

ஆேரா��ய�ைத ேம�ப���� நட�ைத, ஊ�ட�ச�� �ைலைய ேம�ப���த� ம���

�ர��ேயக தா��பா� ஊ����த�

        B:-Financial assistance to widows for self employment and better living for
their families

�யெதா�� ம��� அவ�க�� ���ப�க��� �ற�த வா��ைக�காக �தைவக��� ��

உத�

        C:-To provide a safe and better living environment to destitute and Homeless
widows

ஆதரவ�ற ம��� �ட�ற �தைவக��� பா�கா�பான ம��� �ற�த வா��ைக� �ழைல

வழ��த�

        D:-Mangalya Scheme for Widow Remarriage

�தைவ ம�மண���கான மா�க�ய ��ட�

        Correct Answer:- Option-C

Question33:-POCSO Act come into force on

POCSO ச�ட� அம��� வ�த�

        A:-14th November, 2011

நவ�ப� 14, 2011

        B:-14th November, 2013

நவ�ப� 14, 2013

        C:-14th November, 2014

நவ�ப� 14, 2014

        D:-14th November, 2012

நவ�ப� 14, 2012

        Correct Answer:- Option-D

Question34:-With regard to zinc
(a)     Zinc is a constituent of Carbonic anhydrase
(b)     Zinc is a constituent of Carboxy peptidase
(c)     Zinc is a constituent of Cytochrome oxidase
(d)     Zinc is a constituent of Alcohol dehydrogenase
Choose the correct answer from the options given below:

��தநாக� ெதாட�பாக



(a)    ��தநாக� எ�ப� கா�ேபா�� அ�ைஹ�ேர�� ஒ� அ�கமா��

(b)    ��தநாக� எ�ப� கா�பா�� ெப��ேட�� ஒ� அ�கமா��

(c)    ��தநாக� ைச�ேடா�ேரா� ஆ��ேட�� ஒ� அ�கமா��

(d)    ��தநாக� எ�ப� ஆ�கஹா� �ைஹ�ேரா�ேன�� ஒ� அ�கமா��

�ேழ ெகா��க�ப���ள ���ப�க����� ச�யான ப�ைல� ேத��ெத��க��

        A:-(b) and (d) only

(b) ம��� (d) ம���

        B:-(a) and (d) only

(a) ம��� (d) ம���

        C:-(a), (b) and (d) only

(a), (b) ம��� (d) ம���

        D:-(a), (b) and (c) only

(a), (b) ம��� (c) ம���

        Correct Answer:- Option-C

Question35:-Identify the molecule:

�ல��ைற அைடயாள� காண�� :

        A:-Cannabinoid

க�னா�னா��

        B:-Coca alkaloid

ேகாேகா ஆ�கலா��

        C:-Morphine

மா���

        D:-Benzodiazepines

ெப�ேசா�யாெசைப�க�

        Correct Answer:- Option-A

Question36:-Which of the following match is incorrect?

��வ�� ெபா��த�க�� எ� தவறான�?

        A:-Rhino virus - Corona virus

�ேனா ைவர� - ெகாேரானா ைவர�

        B:-Human immuno virus - Polio virus



ம�த இ��ேனா ைவர� - ேபா�ேயா ைவர�

        C:-Adeno virus - TMV

அ�ேனா ைவர� - TMV

        D:-Influenza virus - Measles virus

இ�ஃ��ய�ஸா ைவர� - த�ட�ைம ைவர�

        Correct Answer:- Option-C

Question37:-Who is/are the winner of 2021 Nobel Prize in Physiology or Medicine for
the Discoveries of receptors for temperature and touch?

ெவ�ப�ைல ம��� ெதா�த��கான ஏ��கைள� க�����தத�காக உட�ய� அ�ல�

ம���வ���கான 2021 ேநாப� ப�ைச ெவ�றவ� யா�?

        A:-David Julius and Ardem Patapoutian

ேட�� ஜூ�ய� ம��� ஆ�ெட� பட���ய�

        B:-Benjamin List and David W.C. Mac. Millan

ெப�ச�� ��� ம��� ேட�� W.C. ேம� ��ல�

        C:-Syukuro Manabo and Klans

���ேரா மனாேப ம��� �ளா��

        D:-David card and Joshua D. Angrist

ேட�� கா�� ம��� ேஜா�வா D. ஆ����

        Correct Answer:- Option-A

Question38:-Two masses m and 4m projected vertically upwards from ground at the
same time with a speed of 10 m/s, when it is returned to the point of projection,
which of the following statements is true?

இர�� �ைறக� m ம��� 4 m ஆ�யைவ ஒேர ேநர��� 10 �/� ேவக��� தைர��

இ��� ெச���தாக ேம�ேநா��� ெச���. �ேரா�� ����� அைவ ����

வ��ேபா�, ��க�டவ��� எ�த ��� ச�யான�?

        A:-Both masses returned to the point of projection at the same time and with
same speed 10 m/s

இர�� �ைறக�� ஒேர ேநர��� ம��� 10 �/� அேத ேவக��� வ�தைட��

        B:-The mass m returned with a speed of 10 m/s and 4 m with a speed of 40
m/s at different time

�ைற m ஆன� 10 m/s ேவக���� �ைற 4 m ஆன� 40 m/s ேவக���� ெவ�ேவ�

ேநர��� ����ய�

        C:-The first mass m returned to the point of projection with a speed of 10 m/s
in 2 seconds, and the mass 4 m with a speed of 2.5 m/s in 2 seconds

�த� �ைற m ஆன� 2 �னா�க�� 10 �/� ேவக��ட� ம��� �ைற 4 m ஆன� 2



�னா�க�� 2.5 �/� ேவக��ட� �ெராெஜ�� ����� ����ய�

        D:-Both masses returned to the point of projection taking equal time but with
speed 10 m/s and 40 m/s

இர�� �ைறக�� சமமான ேநர�ைத எ����ெகா��, 10 �/� ம��� 40 �/�

ேவக��� �ெராெஜ�� ����� ����ய�

        Correct Answer:- Option-A

Question39:-A spring balance is tied to ceiling of a lift reads 10 N when it is
stationary. If the lift is accelerating upwards with an acceleration of 10 / . The
reading shown in the spring balance is (take value of / )

���� ேபல�� ஒ� ����� உ�சவர��ட� க�ட�ப������ ேபா� அ� 10 N ஆக

இ����. ��� 10 �� ���க��ட� ேம�ேநா�� ����� ெகாணடா� ����

ேபல��� கா�ட�ப�� அள� / ) (இ� ம��ைப எ���� ெகா���க�)

        A:-0 N

        B:-10 N

        C:-20 N

        D:-5 N

        Correct Answer:- Option-C

Question40:-The optic fiber cables, one of the main method of energy loss is
through dispersion loss. Which statement about dispersion is correct?

ஒ��ைழ ேக��க�, ஆ�ற� இழ��� ���ய �ைறக�� ஒ�� �தற� இழ�� ஆ��.

�தற� ப��ய எ�த ��� ச�யான�?

        A:-Dispersion occurs due to the dependence of wavelength of light on the
refractive index of the medium

ஊடக��� ஒ��லக� ������ ஒ��� அைல�ள� சா�����பதா� �தற�

ஏ�ப��ற�

        B:-Dispersion occurs due to the scattering of light with the medium

ஊடக��ட� ஒ� �தற� காரணமாக �தற� ஏ�ப��ற�

        C:-Dispersion occurs only for white light with in a transparent medium

ஒ� க�ணா� ஊடக��� ெவ�ைள ஒ��� ம��ேம �தற� ஏ�ப��ற�

        D:-There will not be dispersion loss when we use monochromatic light source

ஒேர �ற ஒ� �ல�ைத� பய�ப����ேபா� �தற� இழ�� ஏ�படா�

        Correct Answer:- Option-A

Question41:-The Nobel Prize for Physics in 2022 was awarded to Alain Aspect, John
F. Clauser, Anton Zeilinger, for their contribution in the experiments on quantum
mechanics. For their experiment they made use of

2022 ஆ� ஆ�� இய��ய��கான ேநாப� ப��  �வா�ட� இய�க�ய� �தான



ேசாதைனக�� அவ�க�� ப�க����காக அைல� ஆ�ெப��, ஜா� எஃ� �ளாச�,

அ�ட� ���க� ஆ�ேயா��� வழ�க�ப�ட�. அவ�க�� ேசாதைன�� அவ�க� இைத

பய�ப���ன�.

        A:-Entangled electron positron pairs

எ�டா���� எல��ரா� பா��ரா� ேஜா�க�

        B:-Entangled light photons

எ�டா���� ஒ� ஃேபா�டா�க�

        C:-Entangled electrons with opposite spins

எ�� �ழ�க�ட� எ�டா���� எல��ரா�க�

        D:-Entangled positron pairs

எ�டா����  பா��ரா� ேஜா�க�

        Correct Answer:- Option-B

Question42:-Which of the following statements are correct?
(i)    Solder and brass contain Tin
(ii)   Brass is an alloy of Copper and Zinc
(iii)  Bronze is an alloy of Copper and Tin

��வ�� ���க�� எ� ச�யான�?

(i)    சா�ட� ம��� ��தைள�� �� உ�ள�

(ii)   ��தைள எ�ப� தா�ர� ம��� ��தநாக��� கலைவயா��

(iii)  ெவ�கல� எ�ப� தா�ர� ம��� தகர��� கலைவயா��

        A:-Both (i) and (ii)

(i) ம��� (ii)

        B:-Both (ii) and (iii)

(ii) ம��� (iii) இர���

        C:-Only (ii)

(ii) ம���

        D:-Only (iii)

(iii) ம���

        Correct Answer:- Option-B

Question43:-Which law provides an explanation of how hot air balloon works?

�டான கா�� ப��  எ�வா� இய���ற� எ�பத�கான �ள�க�ைத எ�த ��

வழ���ற�?

        A:-Charle's Law

சா�ல� ��



        B:-Boyle's Law

பா��� ��

        C:-Henry's Law

ெஹ���� ��

        D:-Avogadro's Law

அவகா�ேரா ��

        Correct Answer:- Option-A

Question44:-Which is the first element to be named after and Asian Country?

ஆ�ய நா��� ெபய�ட�ப�ட �த� த�ம� எ�?

        A:-Indium

இ��ய�

        B:-Nihonium

�ேஹா�ய�

        C:-Gallium

கா�ய�

        D:-Germanium

ெஜ�மா�ய�

        Correct Answer:- Option-B

Question45:-Which among the following is included in "Dirty Dozen"?

��வ�வனவ���  எ� "ட��� டச��" ேச��க�ப���ள�?

        A:-Chlorofluoro Carbons

�ேளாேரா��ேரா கா�ப�க�

        B:-DDT

        C:-Methane

��ேத�

        D:-Carbon Disulphide

கா�ப� ைடச�ைப�

        Correct Answer:- Option-B

Question46:-The Indian Council for Cultural Relations (ICCR) functions under which
Union Ministry?

இ��ய கலா�சார உற�க��கான க����  (ICCR) எ�த ம��ய அைம�சக��� ��

ெசய�ப��ற�?

        A:-Ministry of Culture

கலா�சார அைம�சக�



        B:-Ministry of Tourism

���லா அைம�சக�

        C:-Ministry of External Affairs

ெவ��ற� அைம�சக�

        D:-Ministry of Home Affairs

உ��ைற அைம�சக�

        Correct Answer:- Option-C

Question47:-Kambala is a distinct sport of which state?

க�பாலா எ�த மா�ல��� த���வமான �ைளயா��?

        A:-Gujarat

�ஜரா�

        B:-Karnataka

க�நாடகா

        C:-Maharashtra

மகாரா��ரா

        D:-Tamil Nadu

த��நா�

        Correct Answer:- Option-B

Question48:-In which country was the remains of the newly discovered human
species 'Nesher Ramla Homo' found?

��தாக� க�����க�ப�ட ம�த இனமான 'ேநஷ�� ர�லா ேஹாேமா' எ�ச�க� எ�த

நா��� இ��� க�ட�ய�ப�ட�?

        A:-France

�ரா��

        B:-China

�னா

        C:-Russia

ர�யா

        D:-Israel

இ�ேர�

        Correct Answer:- Option-D

Question49:-Nelliyode Vasudevan Namboothiri, who passed away in August 2021,
was associated with which dance form?

ஆக�� 2021 இ� காலமான ெந��ேயா� வா�ேதவ� ந���� எ�த நடன வ�வ��ட�



ெதாட��ைடயவ� ?

        A:-Kathakali

கதக�

        B:-Kathak

கத�

        C:-Bharatnatyam

பரதநா��ய�

        D:-Mohiniattam

ேமா��யா�ட�

        Correct Answer:- Option-A

Question50:-In which state is the Trirashmi Buddhist cave complex located?

��ரா�� ��த �ைக வளாக� எ�த மா�ல��� உ�ள�?

        A:-Maharashtra

மகாரா��ரா

        B:-Tamil Nadu

த��நா�

        C:-Uttar Pradesh

உ�தர �ரேதச�

        D:-Madhya Pradesh

ம��ய �ரேதச�

        Correct Answer:- Option-A

Question51:-A boat travels a certain distance upstream at 10 km/hr and the same
distance downstream at 20 km/hr. Find the time the boat will take to travel 40 km
upstream and downstream

ஒ� பட� 10 ��/ம� ேவக��� ��ேநா�� ஒ� �����ட �ர�ைத��, அேத �ர�

��ேநா�� 20 ��/ம� ேவக���� பய���ற�. பட� 40 �� ��ேநா�� ம���

��ேநா�� பய��க எ���� ேநர�ைத�  க�ட�ய��.

        A:-6.5 h

6.5 ம�

        B:-6 h

6 ம�

        C:-7 h

7 ம�

        D:-5.5 h



5.5 ம�

        Correct Answer:- Option-B

Question52:-The difference between selling prices obtained after a single discount
of 30% and two successive discounts of 20% and 10% on the marked price Rs.
20,000 of a product is

ஒ� தயா���� ���க�ப�ட �ைல �. 20,000, ஒ� �ைற 30% த��ப� ம��� 20%

ம��� 10% ஆ�ய இர��  ெதாட���யான த��ப�க���� �ற� ெபற�ப�ட

��பைன �ைலக��� இைடேய உ�ள ���யாச� கா�க.

        A:-Rs. 4,000

�. 4,000

        B:-Rs. 300

�. 300

        C:-Rs. 400

�. 400

        D:-Rs. 440

�. 440

        Correct Answer:- Option-C

Question53:-If X means +, Y means –, Z means / and P means ×, then (4P3) Z6Y2

X எ�றா� +, Y எ�றா� –, Z எ�றா� / ம��� P எ�றா� ×, எ�� (4P3) Z6Y2

        A:-0

        B:-2

        C:-1

        D:-–1

        Correct Answer:- Option-A

Question54:-Raju has a certain average mark for 8 subjects. In the ninth subject, he
got 90 marks thereby increasing his average by 9 marks. His new average is

ராஜு 8 பாட�க��� �����ட சராச� ம��ெப� ெப���ளா�. ஒ�பதாவ� பாட���,

அவ� 90 ம��ெப�க� ெப�றா�. இத� �ல� அவர� சராச�ைய 9 ம��ெப�க�

அ�க��தா�. அவர� ��ய சராச�

        A:-80

        B:-19

        C:-9

        D:-18

        Correct Answer:- Option-D

Question55:-If the 20th term of an A.P. exceeds its 9th term by 22, the common



difference is

ஒ� A.P. �� 20வ� காலமான� அத� 9வ� கால�ைத 22 ஆ� ���னா�, ெபா�வான

ேவ�பா�

        A:-1

        B:-2

        C:-3

        D:-9

        Correct Answer:- Option-B

Question56:-A clock is set right at 1 PM. The clock loses 16 minutes in 24 hours.
What time will the lock show when the true time is 7 PM on the 4th day.

ஒ� க�கார� ம�ய� 1 ம��� ச�யாக அைம�க�ப���ள�. க�கார� 24 ம� ேநர���

16 ��ட�கைள இழ��ற�. 4வ� நா�� உ�ைமயான ேநர� இர� 7 ம�யாக

இ����ேபா� க�கார� எ�த ேநர�ைத� கா�����.

        A:-6 : 08 PM

மாைல 6 : 08

        B:-6 : 56 PM

மாைல 6 : 56

        C:-7 : 56 PM

மாைல 7 : 56

        D:-7 : 08 PM

மாைல 7 : 08

        Correct Answer:- Option-A

Question57:-If it is possible to form a word with the first, 4th, 7th and the 11th
letters of the word 'SUPERFLUOUS' write the first letter of the word

'SUPERFLUOUS' எ�ற வா��ைத�� 1, 4, 7 ம��� 11வ� எ����கைள� ெகா�� ஒ�

ெசா�ைல உ�வா�க  ���தா�, அ�த வா��ைத�� �த� எ��ைத எ�த��.

        A:-S

        B:-L

        C:-O

        D:-E

        Correct Answer:- Option-B

Question58:-The next term of the following letter series will be EH, JK, ON, ?

��வ�� எ���� ெதாட�� அ��த ெசா� EH, JK, ON, ?

        A:-UQ

        B:-TQ



        C:-TR

        D:-UR

        Correct Answer:- Option-B

Question59:-A and B start from a fixed point, A moves towards east and after
walking 7 km, turns to the right and covers 9 km, B moves towards west and walks
8 km and then turns to his right and walks 11 km. Now how far are A and B from
each other?

A ம��� B ஆ�யைவ ஒ� �ைலயான �������� ெதாட��, A �ழ�� ேநா�� நக���

7 �� நட�த �ற�, வல� ப�க� ���� 9 ��, B ேம�� ேநா�� நக���

8 �� நட�� ��ன� வல��ற� ���� 11 �� நட���றன�. இ�ேபா� A ம��� B

ஒ�வ��ெகா�வ� எ�வள� ெதாைல�� உ�ளன�?

        A:-15

        B:-20

        C:-25

        D:-18

        Correct Answer:- Option-C

Question60:-Find the missing number
0, 6, 20, 42, 72, ?

��ப�ட எ�ைண� க�ட�ய��

0, 6, 20, 42, 72, ?

        A:-106

        B:-112

        C:-110

        D:-108

        Correct Answer:- Option-C

Question61:-The boy never did his homework, _______?

        A:-did he?

        B:-didn't he?

        C:-does he?

        D:-don't he?

        Correct Answer:- Option-A

Question62:-The more she scrubbed, the _______ it looked.

        A:-shiny

        B:-shining

        C:-shine

        D:-shinier

        Correct Answer:- Option-D



Question63:-We must take the child home. Change the sentence into Passive Voice

        A:-The child must be taking home

        B:-The child must be taken home

        C:-The child must taken home

        D:-The child must take home

        Correct Answer:- Option-B

Question64:-My colleague put forward ________ Unique idea.

        A:-some

        B:-a

        C:-many

        D:-an

        Correct Answer:- Option-B

Question65:-Would you mind if I ________ the music now?

        A:-play

        B:-plays

        C:-played

        D:-playing

        Correct Answer:- Option-C

Question66:-I could hear the seemingly buoyant steps at the door. The synonym of
the word - buoyant

        A:-muffled

        B:-cheerful

        C:-noisy

        D:-unhappy

        Correct Answer:- Option-B

Question67:-A ream of paper
A nest of mice
A ______ of stars

        A:-herd

        B:-fleet

        C:-bunch

        D:-galaxy

        Correct Answer:- Option-D

Question68:-The film star _______ his new luxury car.

        A:-floated

        B:-flaunted

        C:-floored



        D:-flounted

        Correct Answer:- Option-B

Question69:-Ray ______ while his mother was talking to her friends.

        A:-cut in

        B:-went after

        C:-looked forward

        D:-put out

        Correct Answer:- Option-A

Question70:-They told their alma mater in high regard and often visit the place.
Alma mater is their ______

        A:-Church

        B:-Hometown

        C:-School

        D:-Office

        Correct Answer:- Option-C

Question71:-ஒ�ைம� ப�ைம �ைழகைள ��� எ��க

        A:-பறைவக� இைர ேத� அைல�த�

        B:-பறைவ இைர ேத� அைல�தன

        C:-பறைவ அைல�தன இைர ேத�

        D:-பறைவக� இைர ேத� அைல�தன

        Correct Answer:- Option-D

Question72:-���கா�� ெசா�க�� ெபா��தா ெசா�ைல� த�க

        A:-ைவகைற

        B:-ேமக�

        C:-ந�பக�

        D:-மாைல

        Correct Answer:- Option-B

Question73:-'Awareness' எ�ற ஆ��ல� ெசா���� இைணயான� த���ெசா� எ�?

        A:-����ண��

        B:-ேதச உண��



        C:-ந��ண��

        D:-ப��ண��

        Correct Answer:- Option-A

Question74:-'பா' - எ�� ஓெர��� ஒ�ெமா� உண���� ெபா��

        A:-வாட�

        B:-ஆட�

        C:-ேதட�

        D:-பாட�

        Correct Answer:- Option-D

Question75:-'அ�ய' எ�பத� எ���ெசா� த�க

        A:-க�ய

        B:-��ய

        C:-எ�ய

        D:-ெப�ய

        Correct Answer:- Option-C

Question76:-'ெவ��ைன' எ�� ெசா�ைல� ���� எ��க

        A:-ெவ�ைம + �ைன

        B:-ெவ�ப� + �ைன

        C:-ெவ� + �ைன

        D:-ெவ�� + �ைன

        Correct Answer:- Option-A

Question77:-வா��ய� �ைழ ����க

        A:-தைல� தைலவேனா� ெச�றா�

        B:-தைல� தைலவேனா� ெச�ற�

        C:-தைல� தைலவேனா� ெச�றா�

        D:-தைலவேனா� ெச�றா� தைல�



        Correct Answer:- Option-C

Question78:-ச�யான� ெதாடைர� ேத�� ெச�க

        A:-க�� ெகா��க ெகா��க� �ைறயா�

        B:-க�� ெகா��க ெகா��க� �ைறயா�

        C:-க�� ெகா��க ெகா��க� �ைற��

        D:-க�� ெகா��க ெகா��க� �ைற��

        Correct Answer:- Option-B

Question79:-'��தக�' - எ�பத� ெபா�� த�க.

        A:-பவன�

        B:-ப�வ�

        C:-பழன�

        D:-�ரகாச�

        Correct Answer:- Option-B

Question80:-"A little knowledge is dangerous" - த�ழா�க� ெச�க.

        A:-ஆப�தான� அைர�ைற அ��

        B:-அ�� அைர�ைற ஆப�தான�

        C:-அைர�ைற அ�� ஆப�தான�

        D:-�ைற அைர அ�� ஆப�தான�

        Correct Answer:- Option-C

Question81:-The technique used to combine multiple channels for transmission
over a communication link is

        A:-Signalling

        B:-Multiplexing

        C:-Transmission

        D:-Switching

        Correct Answer:- Option-B

Question82:-Which are the two different types of ISDN data rate access?

        A:-BRI and PRI

        B:-STD and ISD



        C:-ADSL and VDSL

        D:-FTTH and IPTV

        Correct Answer:- Option-A

Question83:-The band width of a ISDN - B channel is

        A:-64 kbps

        B:-128 kbps

        C:-16 kbps

        D:-8 kbps

        Correct Answer:- Option-A

Question84:-The maximum speed of an ISDN BRI channel is

        A:-2 mbps

        B:-12 kbps

        C:-128 kbps

        D:-8 mbps

        Correct Answer:- Option-C

Question85:-In optical fibre the information travels in the form of

        A:-Sound

        B:-Light

        C:-Electricity

        D:-Solar waves

        Correct Answer:- Option-B

Question86:-Which of the following is Government of India owned FSU providing
telecom services in India (except in Delhi and Mumbai)?

        A:-MTNL

        B:-VSNL

        C:-TRAI

        D:-BSNL

        Correct Answer:- Option-D

Question87:-Any switching system used by an organisation to provide both internal
switching function and access to public network is called

        A:-PBX

        B:-ESS

        C:-ISDN

        D:-Telex

        Correct Answer:- Option-A

Question88:-The features of a PABX which block the incoming calls to a specific
location is called



        A:-DOD

        B:-Call waiting

        C:-Call drop

        D:-DND

        Correct Answer:- Option-D

Question89:-The Voip service that connect PBX to internet is called

        A:-PSTN

        B:-POTS

        C:-SIP trunk

        D:-ISDN

        Correct Answer:- Option-C

Question90:-Which of the following PBX delivers PBX functionally as service through
cloud?

        A:-EPAX

        B:-Hosted PBX

        C:-PABX

        D:-All the above

        Correct Answer:- Option-B

Question91:-Which of the following PBX system used both PSTN and SIP to carry out
communication to the outside world?

        A:-EPBX

        B:-Voip PBX

        C:-PABX

        D:-Hybrid PBX

        Correct Answer:- Option-D

Question92:-In installing an IP-PBX, which of the following port of IP-PBX is
connected to a broad band modem or router?

        A:-LAN

        B:-WAN

        C:-FXS Port

        D:-FXO Port

        Correct Answer:- Option-B

Question93:-The generally used factory default LAN IP address for IP PBX
configuration is

        A:-192.168.1.1

        B:-8.8.8.8

        C:-192.168.0.2



        D:-8.8.4.4

        Correct Answer:- Option-A

Question94:-Which of the following telecommunication medium is having the lowest
loss?

        A:-Co axial cable

        B:-Jelly filled copper cable

        C:-Optical fibre cable

        D:-Cat 4 cable

        Correct Answer:- Option-C

Question95:-Which of the following Telecom service provides voice, data and IP TV
services in a single channel?

        A:-FTTH

        B:-Cable TV

        C:-HD TV

        D:-ISDN

        Correct Answer:- Option-A

Question96:-The feature that enable callers to directly dial into a phone extension
without the assistance of the operator is known as

        A:-DOD

        B:-Call waiting

        C:-Call parking

        D:-DID

        Correct Answer:- Option-D

Question97:-The feature that enable a telecom operator to forward or extend a call
to a station even if the station is engaged in a call and if the call, is not answered
with in a predefined time interval the call will be routed back to the operator is
called

        A:-Call holding

        B:-Voice Mail

        C:-Call Clamp on

        D:-Conference calling

        Correct Answer:- Option-C

Question98:-The ability to receive calls at any number of designated phones,
whether ringing all once or in a predefined sequence is known as

        A:-Follow me calling

        B:-Conference calling

        C:-Group calling

        D:-Trunk call



        Correct Answer:- Option-A

Question99:-In connecting PBX to FTTH Telephone line which port of the ONT is
connected to PABX

        A:-FXS

        B:-LAN1

        C:-FXO

        D:-PON

        Correct Answer:- Option-A

Question100:-What is the name of the customer end device used in FTTH a
services?

        A:-ADSL Modem

        B:-VDSL Modem

        C:-Set of Box

        D:-ONT

        Correct Answer:- Option-D


